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HHXREREREEES FHRLEE REREE HHAZREYES FR25E TFHEHE
(FBR1644 1 A 1 H~¥AOtEI2A31H) CER 241 A1 B~¥K 2 F12A318)
(8L 1 1) (Bf7 0 M)
woA 0o % N A O
# H ¥ B #® ® B #® Eg- 4,229,000
S8 4,179,000 3,592,000 E2E 350%5,000= 1,750,000
E£E 310%5,000=1,550,000 | 250X 5,000=1,250,000 HEH 18%3,000= 54,000
BEES 53X5,000= 265,000 BhEA 20 30,000= 600,000
#o8 18%3,000= 54,000 7X3,000= 21,000 FHER EE) 120X 5,000 X 3% = * 4) 1,800,000
BEES 2Xx3,000= 6,000 FHEE (Z0fh) 5X5,000= 25,000
f=duE = 25X30,000= 750,000 | 19%30,000= 570,000 ABE 5x3,000= 15,000
REES 2%30,000= 60,000 =2 500,000
FHRSE 1) | 120%15,000=1,800,000 | 93X 15,000=1,395,000 ZHFR 60,000
Z0ft 5X5,000= 25,000 5%5,000= 25,000 BRI 30,000
A&S 5x3,000= 15,000 5%3,000= 15,000 A 40,000
IRER 500,000 34t 720,000 BTG BEARE » 5) 4,450,195
SHFIE 50,000 72,852 & 5 9,324,195
HEA 40,000 92,072
AR 30,000 6fF 133,340 X #H o
RIERERESE + 2) 3,870,853 3,870,853 ¥oHER 500,000
& it 8,684,853 8,496,117 FEES R 200,000
HEEESHDS 300,000
X B 0o % SEHTITE 2,600,000
i g ¥ B B | » B # ENRIE 2,300,000
¥R E 440,000 317,375 FXE 300,000
FBEEREE 240,000 205,432 BBE 500,000
EESEHE 200,000 111,943 BHERIE 200,000
SHHTE 2,200,000 2,285,670 BEE 200,000
FMRE 2,000,000 2,062,700 EHAGRE 100,000
FrE 200,000 222,970 #L 600,000
BEE 600,000 237,886 DHE 50,000
HHERE 300,000 76,585 LY 200,000
EER 200,000 103,974 T 100,000
HEARE 100,000 57,327 FUIN Ny 7 AR 300,000
e 500,000 610,000 FieE 100,000
£HB 50,000 28,500 REFEREE + 6) 4,374,195
R 200,000 119,430 =l &t 9,324,195
HRt 50,000 147,061 * ) SHES1204X5,000= 600,000
TYIVEEY 7 AREE 300,000 300,000 HIZE® QES) 1204 X5,000x2=1,200,000
TR 100,000 0 &5H1,800, 0007
REERBSE 4,244,853 | +3) 4,450,195 *5) 5 LEIRSBFRICER 934 X5,000 X 24E= 930,000
& &t 8,684,853 8,496,117 MEAI634E251164 X 5,000 X 14£= 580,000
«1) 5%, 930,000 iL2EFDFIZEE &EF1,540,000
©2) 35, HIRSWEIEREI64 X5,000M X26E= 930,000 *6) 2 BATERBTAR 2 2904 x5,000= 900,000
624EZ 984X 5,000/ X 14 = 490,000 FRUTHAE934 X5,000= 465,000
81,650,000 81,365,000
*3)5 5, BIZRBVRITER 93AX5,000x25EH5= 930,000
FBRI634E2116.A X 5,000 X 14E43 = 580,000
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